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Which plnco the "Moo nyntom ol wiving'
is mont suitnblo ?

(A) Godown wiring

(B) Industrinl wiving

(C) Domoentie wiring

(1) Multi storied building

an_mr Singh International Stadium
18 situated in tho __ __ disbrict of
Haryana.

(A) Gurugram
(C) Rohtalk

(B3) IFaridabad
(D) Chandigarh
! |
What is the effect of olectric eurront on
ncon lamp ?

(A) Hoeating effeet

(B) Magnetic effect

(C) Chemical effect

(D) Gas ionization eflect

When a fair coin is tossed 8 times, the
probability of getting all tails or ull heads is

1 O
@ 3 ®) =
1 2
© 7 ™ =

Which of the following rivers given below
is/are the tributary/ies of river Ganga ?
(A) Mahananda (B) Yamuna

(C) Ghaghra (D) All of the above

Why the core of current transformer is
having low reactance and low core losses ?
(A) To minimise the error in reading
(B) To prevent high static shield

(C) To maintain constant output

(D) To minimise the burden

At which place the battle between General

Lake’s British.forces and Marathas took
place on 6" September 1803 ?

(A) Pratapganj (B) Hisar

(C) Panipat (D) Gurugram

B

172020 (14)
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Mt
43 .+ e advantages
rhich of th following 18 the adv
6. whic »
: ome’“? cuit, i ensily jdcnt.ll'llud
A) Fau yd 1 uickly restorod
Supply can e q
e Proof

c) Tamper
(D) : All of the nbove

‘7
pleaching poY
;on of chlorine on dry

B) CaCO,
(D) CaSO,

act

(A) Ca(OH),
(C) Ca0

An oscilloscope usually consists of
, (B) Amplifiers

| A) Attenuator
(C) Trigger (D) All of the above

On 24 October 2015, Haryana Government

announced to start Sanskrit University at '

(A) Vidhan Sabha
(B) Ambala District
(C) Rohtak

(D) Mundri Village

What is the name of this hammer ?

\) Claw hammer

3) Ball peen hammer

) Cross peen hammer

)) Straight peen hammer

father tells his son, “I was of yourj
esent age when you were born”. If
ther’s present age is 36, what is son's

e?
) 25 B) 27
) 20 D) 18

e distance between two adjacent teeth
hacksaw bladés are ¢alled as

' Specification of the blades
' Pitch of blades _
Designation of the blades

dor is pmduwd by the

Size of the blades

16.

17.

18.

19.

20.

21.

22.
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frergfera o CEiEh FHLITEI 2 v
(A) ol afife ST A e s 3
(B) 3qfd Sedt A TBIFER 1wt 2
©) mﬁm#ﬂfmmma
) IR aHl il

sefifm I8et Wtaﬂm"ﬁwmfm
Qe |
(A) Ca(OH), (B)_ CaCoO,
(C) CaO )} «Caso - Ji
T STReiRepyg o amﬁkwﬁm%ﬁ%‘é
(A) TRITR (B) TR
(C) fom () IR Fuft
. 24 3T 2015 i wRETN TR
T & 0 A Hwon A |
CNRECICE: L
(B) 3Telrel ftem
(©) T
(D) gt g
Eﬁﬁ‘eﬁ (8W) FFm AW E ?

T TUd1 3197 99 & e § ° 5 g Te1 g
g qt # grerl adam 37 1 o | Jfe far i
FAAFSH 367, WA R ST RTR ?

(A) 25 (B) 27

(©) 20 (D) 18

LHET IS o G ITTE Tl o6 st ol
FEIWER |

(A) g ht fafrsea

(B) oS i fo=

(C) sais <t Ffdwean

(D) =S I IR
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23.

24.

26.

26.

27.

28,
29,

30.
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In Haryana the Directorate of Whoat zftmvnﬁﬁémﬂm e i
Research is situated at @ .
(A) Gurugram (B) Chandigarh (A) TEIH (B) Eré‘mz
(C) Karnal (D) Panipat (C), AT (D) TriTa
Calipers are used with steel rules whose FRd =1 3mm Hia F T F 4 AR Eﬂ
accuracy 1s limited to St & o T __ TwdfmEEE
(A) 0.01 mm (B) 0.1 mm (A 0.01 mm (B) 0.1 mm
(C) 0.5 mm (D) 0.05 mm (C) 0.5 mm (D) 0.05 mm
The successor of Marata Peshwa Baji Rao 1T aai ﬁfﬂm EICiKERVEa e Beaty
(A) Raghoba (B) Madhav Rao (A) T (B) H199 19
(C) Nana Sahib (D) Narayana Rao (C) I wifea (D) AT 79
He is considered to be the architect of ﬁmﬂgﬁzﬁgitmuuww?ﬁla@% !
modern Haryana. He served 3 separate I8 off = gfemon 3 qEAH| = =9 1
terms as Chief Minister of Haryana. TR R | y
The above lines refer to I Yfgerat Yoeid s |
(A) Bhajanlal ' ; (A)YSHATA
(B) Chaudhary Devi Lal - (B). =) &t e
(C) Bansilal _ : (C) sttt
(D) Om Prakash Chautala (D) 3T 191 FN2Tel
What is the name of the atomic material . QT Fetl kg 4 Y] fagea & Toau g
utsetc_l for? nuclear fission in nuclear power | - T gl F AR ?
station ? , - ~
(A) Silicon  (B) Thoriwh (&) Taferpi B)ariEm
(C) Antimony . (D) ;,Cadpgium (C) @Iﬁ:ﬁ (D) Fefiam
Pandit Jasraj belongs to-the . ufed et g et E e
gharana of Hindustani classical music. ' W A G WA | a4
~(A) Aimer _ _ __ (B) Mewati x . -(A) Wﬁ( (B), HTAT
() Kirana - (D) Gwalior. ~ =0 %{'Fﬂ (D) Ta-lﬁﬂ_(
What is the best fire extiﬁgui'éhef for | TIAWF IMF %QEH‘@[ AT I
Type “A” fires? CEOIE (i t e SH-T R ?
(4) Co, (B) ABC .7 (A).CO, (B) ABC
(C) Water (D) None of the above 1 (C) urt D) ST T Y S =
Shalimar garden in Srinagar of J and K ST S T 3 AR el s e
was built by the Mughal tuler' - R I T |
(A) Jahangir - - (A), SRR
(B) Babar (B) SR
(C) Akbar (C) TR
(D) None of the above (D) 3 | | IS =t
-
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A Smunll-Seale Integration (SSI) ¢hip used

€
1. trangistors on n

to have nbout _
gingle chip.

“V 10

(M 60

(3 30
(D) 80

_is the instrument used to measure
insulation resistancoe.

32

(\) Shunt type ohmmetor
(B) Multimeter
(C) Series type ohmmeter
(D) Megger
33. In Haryana, HLRDC means
(A) Haryana Limited of Reclamation
and Development Corporation
(B) Haryana Limited Research and
Development Corporation
(C) Haryana Land Research and
- Development Corporation
(D) Haryana Land Reclamation and
Development Corporation

Which rule is used to find direction of
magnetic flux ?

(A) Cork screw rule

(B) Right hand palm rule

(O) Fleming’s right hand rule

(D) Fleming’s left hand rule

A software is one which provides
certaintasksthat helpinproper maintenance
of the computer.
(A) Application
(B) Utility
(C) System
(D) Language processor

‘Rana Nimantrana’ is a famous work by
the poet ,

(A) Uday Bhanu Hans

(B) Rajaram Shastri

(C) Lakshmi Chand

(D) Khushiram Sharma

31,

32,

33.

34,

35.

36.
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Al " .
A Thermometer is an example of an

— computer since it measures the
change in mercury level continuously,
(A) Analog (B) Digital
(C) Hybrid (D) Hydraulic

What is the name of chisel ?

(A) Flat chisel

(B) Web chisel

(C) Cross cut chisel

(D) Diamond point chisel

This wildlife sanctuary is situated near
the border of Haryana, Punjab and
Rajasthan

(A) Chhilchhila

(C) Kala Teetar

(B) Bhindwas
(D) Bir Shikargah

Unit of conductance is represented by

@A) Q
©Cn

Parsec is the unit of

(A) time

(B) distance

(C) frequency

(D) angular acceleration

B) o
(D) None of these

What is-the full form of ‘XLPE’ Cable ?

“(A) Cross Line Poly Ethyle-ne

(B) X’ess Line Phase Earthing
(C) Cross Linked Poly Ethylene
(D) Excess Length Paper and Ebonite

The architect of Unification of Germany
was

(A) Count Cavoor
(B) Garibaldi

(C) Otto von Bismarck
(D) Mazzini

s

317.

38.

39.

40.

41.

42.

43.
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Carbon filament lamp is operates at

temperature about
(A) 1600°C
(B) 1800°C
(C) 2000°C
(D) 2300°C
Which of the following Division and District
of Haryana is incorrectly matched ?

Division District
(A) Hisar — Fatehabad
(B) Rohtak — Sonipat
(C) Ambala — Mewat
(D) Gurugram - Palwal

A
provides database services to other computer
programs or computers using client-server
model.

(A) Application Server

(B) File Transfer Protocol Server

(C) Database Server

(D) Domain Name Server

If 42% of number is subtracfed from 61%

of itself the resulting value becomes 38:
The number is :
(B) 250

(A) 100
(C) 200 (D) 300

The largest sugar mill and paper mill of

Asia is located in the district |
of Haryana. }

(A) Jind "(B) Bhiwani

(C) Panchkula . (D). Yamunanagar

What is the unit-for quantity of
electricity ?

A) Ampere/second (B) Volt /second
(C) Coulomb _' (D) Mho-
‘Uniform Civil Code’ is policy comes
under _

(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles -

(D) None of the above

is a computer program that

44.

45.

46.

47,
48,
49,
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. (C) Spooling
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This Gurudwara of Haryana i icate
{;]oe gl}t(‘)lll‘ ng(}] Ba{mdury wll]lil;;lg(gf;l;;g
o n{in-tyfda r(r\]ys refore offering himself
(A) Gurudwara Rajghat

(B) Gurudwara Lakhan Majra

(C) Gurudwara Neem Sahib

(D) Gurudwara Kapal Mochan

What is the part marked as X in
B.H curve ?

+11

(A) Coercivity -
(B) Saturation point
(C) Magnetizing force
(D) Residual magnetism
Round Robin scheduiing technique is also
" scheduling.
“(B) Priority :
-«(D) Time sharing

known as
(A) Buffering

built a pal'a-lce'in Narnaul of
Haryana who was the' Diwan of Mughal
emperor, Shahjahan. ;
(A) Rai Mukund Das

(B) Birbal 8D

(C) Rai Madhav Das

(D) None of the above d

Shifting cultivation is also k'no/w.n as
(A) Organic farming -

(B) Slash and burn agriculture

(C) Zero budget natural farming

(D) None of the above

9-
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566.

68.

59.

60.

61.

(C) 22

62.

faryana is famously

Irf‘xlnlc:\i x?ﬁ; st:(;:; (L[; oI:: ,01’);3n] 1 nbl;l garh’

O\) Rai Bahadur Lx'l]n Murlidhar

(B) Noor Samand Khan

(C) Rao Tularam

(D) Nahar Singh |
Which is the immediate life saving care
and support ?

(A) Medical treatment

(B) Call a doctor

(C) Intensive care
(D) First Aid

What is the theme of the “MILAN 2020”
a multilateral naval exercise aimed to
enhance professional interaction between
friendly foreign navies ?

(A) Silent, strong and swift

(B) Mission deployed and combat ready
(C) Synergy across the seas

(D) None of the above

The song ‘Padmavat’ wag Written by
(A) Bansilal (B) Sant Hardev Das
(C) Ali Baksh (D) Sant Atmanand

Whg?t 18 smothering in extinguishing of

re 7

(A) Adding the fuel element to_the fire

B) Removing the fue] element from the fire

(C) Using of water to lower the
temperature

(D) Isolating the fire from the supply of

oxygen by blanketing it with foam,
sand

Complete the series.

12, 14, 15, 16, 18, 20, '
A) 21 B) 25
(D) 23

Which are the alloys of brass sheet ?

(A) Copper and tin
(B) Copper and zinc
(C) Copper and lead
(D) Copper and nickel

66.

b7,

58.

59.

60.

61.

62.
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Ii‘(ll‘yl.ln!l llnHLiI.ul,c of Civil Avintion wag
:i(‘)’l'l(,l(l).l\’u(l n 1999 I.’-y merging 3 enst while

intion clulm.‘Whu:h among the following
was not one of them 9

(A) Karnal Avintion Clul
(]3) Hissar Avintion Cluly
(C) Pinjore Aviation Club
(D) Rewari Aviation Club

What is a Type “C” fire ? -

(A) Flammable liquids

(B) Gas and liquified gas

(C) Wood, paper, cloth

(D) All of the above

What should be come in place of question
mark (?)

ABABCABCDABCD?

A) E B) C
(C) A (D) None of these

Where is the hub of making Durries in
Haryana ?

(A) Pinjore (B) Sirsa

(C) Panipat (D) dJhajjar

The condition for maximum efficiency for
DC motor is

(A) Eddy current losses = stray losses
(B) Hysteresis losses = eddy current losses
(C) Copper losses =0

(D) Variable losses = constant losses

In which of the following election the Single
Transferable Vote System is followed ?
(A) Lok Sabha
(B) Rajya Sabha = |
(C) State Legislative Assembly
(D) None of the above

' is used in soda-acid fire
extinguishers. ' LY
(A) Baking soda.
(B) Soda lime

(C) Washing soda
(D) Sodium carbonate

-11-
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70,

71

72.

73.

74.

76.

. to be performed when

i iatricta receivo
Which ol tho following diatricts 1
e . it ;
loast rainfallin Hary ann {
‘ ‘Ilimu' (13 Siran
U\: IRohtak (D) I'aridabad
(M Roht

of n material is defined as the
| « O o
hange in vesistanee in Ohm (€2) per °C rige
C 2
in temperature.

(A) Temperature co-efficient
(13 Temperature effect

(C) Laws of temperature

(D) Temperature constant

The Kallanai dam, the old
In-use reservoir in Indi
which of the following r
(A) Tunga Bhadyg

(B) Cauvery

(C) Krishna

(D) None of the above

est and sti]]-
a 18 built acrossg
1vers ?

Which river is believed to hav
from the Har-ki-Dun glac
Garhwal of Haryang 9

(A) Saraswati B) Dohar,l_ (
(C) Ghaggay (D) Hanumap Ganga

€ originateq

Find the one which does not belong to the
group. em N

(A) Ludo (B) Polo

(C) Chess (D) Carrom

What is the Principle of micrometer ?
A) Sliding ' -

(B) Screw ang nutr
(C) Rack ang pinion 7 ‘
(D) Worm and worm wheel — -

Which is the correct sequence of operation

using the fire
extinguisher ? =

(A) Pull, Aim, Sweep, Squeeze

(B) Push, Arrange, Squeeze, Sweep
(C) Pull, Aim, Squeeze, Sweep

(D) Push, Arrange, Sweep, Sequence
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What will be coma in the place of question
mark (?)

&

B) 4
(D) 343 -

Which of the following is/are the ndvantage
of planned preventive maintenance ?
(A) Overtime costs reduced

(B) Reduced risk of problems

(C) Reduced no. of repairs

(D) All of the above

In 1947, lakes in Haryana was
built when two small hillocks were joined.
(A) Karna Lake

(B) Badkhal Lake

(C) Hathni Kund Lake

(D) Damdama Lake

Kushana period is famous for the growth
of this Greco-Roman Art

(A) Gandhara Art

(B) Mathura Art

(C) Vesara Style of Art B

(D) Nagara Style of Art

MnO,+ 4HCl — MnCl, + 2H,0 + CL,. This
reaction is ’ 55

(A) Displacement reaction

(B) Precipitation reaction

(C) Redox reaction .
(D) Combination reaction

In Haryana, ‘Maharishi Valmiki’ Award
is given by et

(A) Haryana Urdu Akademi

(B) Haryana Punjabi Sahitya Akademi
(C) Haryana Sanskrit Akademi

(D) Haryana Hindi Akademi
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In the following question, choose the

\L“ ’. . < . 3 ] . ’. . . .
M ‘t(‘ Nne sentences, C YLion J;l F';
fl) ((]"‘l) C E : : V 1

given are confusing words which may

have similar meanings. Select the option (B) st ST Bt * i I <

which best fits the meaning of the - A :
sentence. 6 efreht 2 1t < Fe I 3
31T FoRelt a1 a1 = g

The piston is a/an part of an

G contaguancevs = A (e 39 i 37 A1 s
r S
STl @ 312 T ag  gh g oy

(B) importance

(Q)_ essential . ) b
(D) significance i I.Iﬂ LRl mlﬁ T B
(D) 3T 9 Y 7

§5. Fill in the blank with suitable articles
from the alternatives given below them.

sloth is too slow to run a'race.

89. T3l ! Wikt w9 A v 3 fow

g ® L fere <A1 sl Rt s 2 |
f th i
(D) None of these @ fre o o
86. In the following question, a sentence has tC) o g D) T E 2L 7

been given in Active Voice (or Passive
Voice). Out of the four alternatives |
suggested select the one which b(.est 90. mmﬁmﬁﬁaﬁmw
expresses the same sentence in Passive

(or Active) Voice. ' FEQT ¢ |

Please help me (A) T
(A) You were requested to help me (B)_ﬂ‘l?ﬁ
(B) You are being requested to help me
-(—(.3) You are requested to help me (C) wrsq
(D) You have been requested to help me (D) TH I FI3 T
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